NNY 0EY

0Z¥ 0109TH(1IYL 31 OC¥

¥3M0 3W¥9. INTYA10Z=A3102-=12%05 4ASO8%0S=D L1y

¥9 0109405 Ans03409=3 101/A 4146(=1 Sl

¢GRI T L Y08 J3A0Id0. sAlEd 1T

i O¥-=<X3%1 DLI=V 404! GNS0501=AD O1¥

0Zv 0.0878{TIHL 31 OZH 5 :
, 18142-20411 8AS09%008=1 00F
£02:42402-21¢ tog=
430 YD, INTH10Z=ADL0L-=X2405 BSOS%0S= Llv oL o1ng ocs

¥9 0103¢05 BNSDI%09=3 DDI/A J1%6L=2 1y A
. iy T=k 1<K 3149 80509 {28
UL S ‘e e 1
¥ LN IESH S Y OR", H3AYTdY. INTHd TTY oly DIOSI-ICL/A 41 S8

1241 L1=Y ¥4t 01=
ov-=12l e_wuwa“n_,_ “ﬂmm%.wwh o okt niSh BISODIOZ ISOS¢3 LISN' LXK 028
0L 010 68 A U R R e A
Loh LH 41 528 £14°4'0004-"0L-X 065 G3ISSE OLv=1 UDA1Z 0113 03 01g
O1r 0109%,53A0 3W¥S. INI¥ALLZ-XD107=AD T31CVeh 41¢1+A=Af1oN=NIG4 GRSOD 5S 06=3:06 81503°0=1 00
0 BN509°3 LIIN:4 XN 0it 00K CLOSRACR 31 4TDSH EUS030= OboA-"0L- 1014 41 067

AL H A TECHE HATTARE Bty S -
Lty g ; 11 8NS09* (OSENY)- BBZZI=1 ¥=Obsh- d4IB=0L-1 41 082

£2°4°A*Y YOB'T 31508 D=4 804 011=3 H04 015 h

GE=(02) 44552 (72) 1 106=5:06 80SD8 S0 L ENS09:0=1 d-LCHY 10620 41 022
SIYE AT 08 C ey XOA%0eL 008 08 DUOS6#RD H16-KCD 164DV H16-XCY 3T 002
\ o1t 0108 092 9 ansDats NSO9¢e 8nsos 01
00¥ 01085 LXIN{T+N=NtIC'E A'Y XOR'ST ANS030=1AX)Ad 41 OS2 e
02 05091068106 ANSO34-(=H 31 S e o
1+R=Nt06=B%06 RNSO9LTT ANS09: (OSHNYI-005=1 ¥=h 41B=Y 41d-L0WH 31 LT - ::.;."t_?n mM_
008 0103+43) 316-A<D dToeXW 416-3¢Y 31 S0Z X .
PRSI b oot OTHIA-SNSOTH M IERINSLIY 31 003
0=R401=401)Y 41¢0=(120% 581

_;a.u_wn,“ Hm HMM 0=B4081=H0ETCY 41 ¥t
9910951 41 941 0=0401=201>2 31 £51
) 0=040£=00£4D 410+3=0%0+y=0 {340=0¢3+8=8 1S1
T-=3 KD 147=4 051

1-=36-1<Y 4141=3 021

1+1=N108 ARS090=HY 4108¢H A1d 41%51/N=d Z11
0=661=5 41441 D11=8 ¥04 011

M- (A e=(niety gnsosis 8nS0S 001
NUALTY N+ (NI R=(MIE S6
c'e'u‘o xosig‘etL 'y e Y08 06
SI=(ZZ)IR402=(L1)R4BL= (00} 3B

0£-0T8(5) ON¥=§109-018(Z1) ONY¥=B (8

001 0109%0=040=3F1/A-1"¥8"uCa " R* 08"y ¥IAV >4 INTNd S
1-BZIEN=D64 14009/ (M18=1500-=XDE6L=A0%0x=A 200 1Y 1L
02=410G 8NS0G:0¥=0%02+C4N=3407 4NSO9 0L

8 LUINdY LXaNdTetr ety xoafitiistaty vog 49

01 431509 0109-=Y ¥04i01 431508 010£-=6 ¥03 99

R .

+*

S (7 3N

IF YOU HAVE BALLY OR ASTRGQ BASIC THIS TAPE
MIKE PEACE

HE'S GENTLE AT FIRST BUT WHAT REALLY MAKES HIM MAD

IS SOMEONE PICKING ALL HIS CLOVERS. THE MORE YOU PICK THE FASTER HE GOES. THE BULLS SPEED IS BASED ON EACH INDIVIDUALS SCORE.
SIDE ONE HAS A GRAPHIC BULL AND MAN, SIDE TWO IS MORE CHALLENGING AND FASTER, BECAUSE YOU HAVE BECOME THE SMALLER BOX AND THE
BULL IS THE LARGE ONE. WHEN THE SPEED GETS UP BE CAREFUL AND DON'T GET CONFUSED. HERE IS A REAL CHALLENGE. THE HIGHEST S{ORE
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THAT'S ALL THERE IS TO IT.

WILL WORK ON EITHER ONE. WITH ASTRO BASIC THERE WILL BE ABOUT 25 SECONDS BEFORE IT BEGINS LOADING, BUT IT LOADS IN JUST 16
IF YOU DO,WE'D LIKE TO HEAR ABOUT IT. JUST DROP US A LINE. ONCE THE GAME

L

GOOD LUCK AND THANKS FOR YOUR ORDER.

(1 TO 10) PLAY BEGINS AFTER THE FIELD FORMS. YOU ARE ON THE RIGHT THE BULL IS ON

THE LEFT. THE OBJECT IS TO PICK ALL THE CLOVERS (1 POINT EACH) AND TO STOP PICKING WHEN A BONUS CLOVER POPS UP. THE BONUS IS

WORTH 300 PQINTS AND DROPS 50 POINTS FOR EVERY CLOVER YOU PICK ON THE WAY TO THE BONUS. AS THERE ARE FEWER CLOVERS ON THE FIELD

SECONDS. DO NOT STOP RECORDER UNTIL THE SCREEN CLEARS AND ASKS "PLAYERS ?" USE THE CONTROL KNOB AND TRIGGER TO ENTER 1 TO 4.
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